The 4 times-table

0 Complete the multiplication.

b)

a)

X

=| 32

LN N

= 12

0 Complete the number sentences.

a) 6 x4 = |
b) 4x3=| |2
| 2% |=7x4
d)4x| 120 =48
e) 0x4=| O
f) 4x9=|3L
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9)24:4=| b

hysza=| 2
) 0:4=| ()
(LG [+11=4
k)| 20 |+4=5
) 1x4=| [4

o What multiplication and division statements does the

array represent?

Complete the statements.

Lolx| 7 |=] 98
T x| L |=| 28
2% |=| #|=| b
29 |+ L |=| 7

e Complete the number sentences.

a)2x4=| % 3x4=| |0
axa=|1b 3x8=| 91
8x4=| 39 3x12=| 3L
b)8=4x| 9
16=4x| L
R2=4x| §

What patterns do you notice?
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o Write <, > or = to compare the statements.

a) 48+12@4 d)4+4@ 4 x 4
b) 36@40+4 e)1x4@ 4 x 1
c) 16+4@4x4 f)4x2@32+4
o A paper clip is 4 cm long.
) 4 cm R
How long are 6 of these paper clips?
2lom

° Dexter buys 10 mugs and 4 key rings.

How much money does he spend in total?

o The pictogram shows the animals a group of children have
as pets.

Complete the pictogram. @

Number of animals

- | 0000 .
dog | OO OO0 28
00000 "
mouse | (O L

Animal Pictogram

Some of the
numbers in the 4
times-table are even, but
not all of them.

Te
O

All numbers Eva
Teddy in the 4 times-table
are even.
Who is correct? Eva
How do you know? Talk about it with a partner. @

White
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The 8 times-table

0 Here is an array made up of triangles.

AAANAAAAA

AAANAAAAA

ba24sass

0 How many are there in total? AAAAAAAA
Complete the multiplications. AAAAAAAA

a AAANAAAAA
) T (I ALAARAAR

a) What multiplication sentence can you see?

g I« g |-

EETS) ST

O |x| 8 |=| LO

b) What division sentence can you see?

12 2% YN

Lofx| 2 |=| 32
e Complete the calculations.
Try to do the calculations in your head.
6 x 8= 72 + 8 =
0 Complete the number tracks. a) 6 L% ¢) ol

Al o 8 16 | 24 | 29 | LO| US| S& b) 8 x| 7 |=56 f) | 2€|+11=8

) 10x8=| &0 g) |LO [+8=5
)l 96 | 88 | 80 | 72 | 6L |56 | Le| LO :

d) |32 [=8x4 hy 8x1=| 2
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o What multiplication can you see? @
OOOOOOOCO

o Complete the multiplications.

a)2x8=| b b)8=8x| |
4x8=|7270 16=8x| <
8x8=|(l 32=8x| L

What patterns do you notice? O)

o a) Amir draws 7 jumps of 8 on a number line.

What number does Amir end on? | 5[,

Explain how you worked it out. @

b) This time, Amir makes 7 jumps of 8, but starts from 1

What number does Amir end on this time? | 5

Explain how you know. O,

e Boats can be hired on a lake.

There are 5 large boats and
8 small boats on the lake.

Each boat is full.

How many people are on the lake?

L2

0 Put the numbers into the sorting diagram.

2 4 16 32 48 36 12 6

In the In the

2 times-table 4 times-table

8 times-table

Are any of the parts empty? Why?

(@

Talk about it with a partner.
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Multiply 2-digits by 1-digit (2)

00000 4x5=| )0
00000
00000
00000 4x15=] 60

4 x 10 = LLO

0 There are 23 marbles in a jar.

There are 5 jars.

Crrn Orrarran a8 8. e Complete the multiplications.
O OrITTTm a 8 a a) 4x24=|T(
O OrITTTm a 8 a
O Orrrin (@ @ @ b) 3x17=| 5|
O OrITTTm
eeew Q 3x25=| 75
How many marbles are there in total? d)3ax4=|]20

5 x 3 ones = \5

5x2tens=| | ()

e Complete the column multiplications.

‘5 + lOO = ”S Tens _
T
censo 1S 00 |0000 2

X
There are | | |5 | marbles in total. OO 0000
OO 0000 |

Jojw »~ 1O
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R © Tommy works out 37 x 2
000 (00000 15
2o T O Tlo
Q00 00000 : - 3.7
| [L]O 317
000 (00000 ‘ f X2
6 1 4 7 L+
Q00 00000 |
What mistake has Tommy made? Work out the correct answer. @
o 0 Find the missing numbers.
Work out the multiplications. @
a) 25 x 5 c) 5x 26 > 2 3 1
x Ly X "
T O T10 8 8 1.2 4
5 2|6
X 5 X 5
XS
‘ 2 ] :% O o Here are some digit cards. | 14 2 3 4 5 8
b) 35 x 6 d) 4 x 36 a) Use the digit cards to create a multiplication
and work out the answer.
T O T0 =9 3|2 x| 5]=| 160
> 3 6 b) Work with a partner to find calculations that have: @
* ° = L ® an odd product
D‘ 3‘ O ) % Y ® an even product O\)

® an exchange in the ones column

® an exchange in the ones and tens columns.

White
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Divide 2-digits by 1-digit (2)

0 Rosie has 56 pencils.

a) Draw base 10 to represent the pencils.

B

\_ J

Rosie shares the 56 pencils equally between 4 pots.

b) Draw base 10 on the place value grid to share the pencils.

&

¢) How many pencils are in each pot? |l.{

d) Did you have to make an exchange?

«

0 Eva has this moneuy.

She wants to share the money equally between 3 people.

a) Use the place value chart to show how Eva can share

the moneuy.
£(0 & E 6 ¢
£10 & E & E
£lo E E & E
b) How much money does each person get? Ay

e Divide 72 by 3

COO0OO0 00

Tens

OOOO

OOOO

OOOO

Use the place value counters to help you.

72+3=|214
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a45:3=| |5 o) 48+3=| |[,
b) 57 +3=| | 30+3=| |0
0 92:4=99 18+3= O
48 +3=| | [
o Rosie and Tommy are working out 52 + 4
b) 96 + 4 = QL‘ ) 65+5= ]3
They both use a part-whole model.
Rosie Tommy
d75+3=| 25
o Here are 3 divisions.
] . : Lo
a) Whose part-whole model will help them with the division? 96 = 8 96 = 4 96 = 2
TOmm/u\
a) What is the same about the questions? What is different? O]
How do you know?
’ b b) Complete the divisions.
LL‘ ¢) What do you notice? Talk about it with a partner. @
b) Use a part-whole model to work out 52 + 4 l?) -
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